
Model: ATTTA01B101-BX

Material:

Package Dimensions: 69.55" x 11.01" x 9.67"

Product Weight: 68.86 lbs

E-Coated Steel

13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746

TECH@ATTICA4X4.COM

626-369-2121

WWW.ATTICA4X4.COM

16-23 Toyota Tacoma 

Apex Series Rear Bumper



13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746

TECH@ATTICA4X4.COM

626-369-2121

WWW.ATTICA4X4.COM

This product is designed primarily to enhance the appearance of the vehicle. Do not 

rely on any component of this product for protection against injury or death in the 

event of an accident. To reduce the risk of serious injury or property damage, please 

read all safety warnings and carefully review all instructions and procedural notices 

before attempting to install or use this product.

WARNING

※ Please recheck fasteners after 250 miles and inspect frequently.

CAUTION

1

Socket Ratchet

Wrench

Drill 

Flathead Screwdriver

Side Cutter

Double Ended Socket Hex Bit Socket

Hex Key

REQUIRED 
TOOLS



13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746

TECH@ATTICA4X4.COM

626-369-2121

WWW.ATTICA4X4.COM

2

Parts Name Size Line Graph Qty

Parts Information
NO.

/ / 1Bumper

Blind Sensor Housing

8

8

6

6

6

10

6

M8X20-8.8

M10X35

M10-8

φ10

φ10X25

Hex Bolt

B07

W13

W22

W23

B35

M6X20

φ6X18

Allen Bolts

Flat Washer

Flat Washer

Spring Washer

Hex Bolt

Hex NutN15

B15

 M8-8

M12-8Hex Nut 4

6N14

N19

Hex Flange
Nut

M12X55 4B77 Hex Bolt

1/ /



13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746

TECH@ATTICA4X4.COM

626-369-2121

WWW.ATTICA4X4.COM

3

※Note: One pack of spare parts is provided. 

Installation Instructions
Step 1: Open the box and check that all components are included.

Step 2: Disconnect the wiring harness and remove the OEM bumper.

1 2

8

φ12

φ12X30

4

6

N33

W25

W27

M6-8Clamping Nut

Flat Washer

Spring Washer



13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746

TECH@ATTICA4X4.COM

626-369-2121

WWW.ATTICA4X4.COM

4

Step 3: Attach the blind sensor housing to the bumper.

1 2

Parking sensor harness
*

x� M� x� M� x�

3



13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746

TECH@ATTICA4X4.COM

626-369-2121

WWW.ATTICA4X4.COM

5

2

1

Same installation method for both sides.
*

3



13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746

TECH@ATTICA4X4.COM

626-369-2121

WWW.ATTICA4X4.COM

66

Step 4: Mount the bumper to the vehicle.

Same installation method for both sides.
*

1

1

2

2

6

3

3

5

5

6 7

7

8

8

M��x� M��x� M��x�M��x� φ��x� φ��x� φ��x� φ��x�

4

4



13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746

TECH@ATTICA4X4.COM

626-369-2121

WWW.ATTICA4X4.COM

7


